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	 lkekU; vè;;u iz'ui=k&2

	 General Studies Paper-2
	 ;wfuV&I	 Mark-100
	 Unit-I	 (100 Marks)
	 Hkkx&v	 vad 20

	 Part-A 	 Marks : 20
uksV% lHkh iz'u gy djsaA izR;sd iz'u ds nks (2) vad gSaA
Note: Attempt all questions. Each question carries two (2) marks.

	 1.	 dFku%
	 dqN isafly jcM+ gSaA

	 lHkh isafly 'kkiZuj gSaA

	 lHkh jcM+ 'kkiZuj ugha gSaA

		  Statements:
		  Some pencils are erasers.
		  All Pencils are sharpeners.
		  All erasers are not sharpeners.
	 	fu"d"kZ%
	 I.	 lHkh jcM+ isafly gks ldrs gSaA

	 II.	 dqN 'kkiZuj jcM+ gSaA

	 dkSu lk fu"d"kZ lgh gS\	

		  Conclusions:
	 I.	 All erasers can be pencils.
	 II.	 Some sharpeners are erasers.
		  Which conclusion is correct?
	 2.	 fuEu vuqØe esa ,d vlaxr la[;k gSA ml la[;k dks Kkr dhft;sA

		  1, 2, 4, 7, 28, 93, 198, 205
		  In the following sequence, there is a discrepancy in one of the numbers. Find that number.
		  1, 2, 4, 7, 28, 93, 198, 205
	 3.	 fuEu fp=k esa oxks± dh dqy la[;k Kkr dhft;s%

	 	 Find the total number of squares in the following figure:

	 4.	 fuEu esa ls ,d csesy Kkr dhft,%

	 	 Find the odd one among the following:
		  17, 27, 37, 43, 67	
	 5.	 nks Vªsu foijhr fn'kk esa 36 km/hr ,oa 45 km/hr ij 20 lsd.M esa ,d&nwljs dks ikj dj jgh gSaA ;fn ,d Vªsu 200 

ehVj yach gS] rks nwljh Vªsu dh yackbZ Kkr dhft;sA

		  Two trains running in opposite directions at 36km/hr and 45 km/hr cross each other in 20 seconds. If one is 
200 meters long, then find the length of the other train.
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	 6.	 nks la[;kvksa dk vuqikr 3 % 4 gSA ;fn mudk egÙke lekiorZd 4 gS] rks mudk y?kqÙke lekiorZd Kkr dhft,A

	 	 The ratio of two numbers is 3 : 4 If their greatest common factor is 4, then find out their least common factor.
	 7.	 nks ik¡ls ,d lkFk iQsads tkrs gSaA mu ij ik, x, vadksa dk ;ksx 8 ugha gksus dh izkf;drk Kkr dhft;sA

		  Two dice are rolled simultaneously. Find the probability that the sum of the numbers on them is not 8.
	 8.	 izfrp;u jpuk ifjHkkf"kr dhft,A

	 	 Define sampling frame.
	 9.	 fuEu fp=k esa] O o`Ùk dk dsUnz gS rFkk ∠AOC = 100º gSA ∠ADC o ∠ABC  dk vuqikr Kkr dhft,A 

	 	 In the following figure, O is centre of circle and ∠AOC = 100º, Find the ratio  ∠ADC to ∠ABC.

O

A B

D

C100º

	 10.	 ,d vkSlru lefer caVu ds cgqyd o ekfè;dk dk varj 28 gSA bl caVu ds ekfè;dk o ekè; dk varj Kkr dhft,A

		  For a moderately symmetric distribution, the difference between mode and median is 28. Find the difference 
between median and the mean of the distribution.

	 Hkkx&c	 vad 40

	 Part-B	 Marks : 40

uksV% lHkh iz'u gy djsaA izR;sd iz'u ds ik¡p (5) vad gSaA
Note: Attempt all questions. Each question carries five (5) marks.

	 11.	  ¶;fn vki ân; jksx dk loksZre mipkj izkIr djuk pkgrs gSa] rks vkidks vLirky  Z ds ikl tkuk pkfg,¸&P us Q 
dks dgkA

èkkj.kk,¡%

	 I.	 Q ân; jksx dk ejh”k gks ldrk gSA

	 II.	 Q lkekU;r% P dh ckr lqurk gSA

	 III.	 P ds ikl vLirky lqfoèkkvksa dh i;kZIr tkudkjh gks ldrh gSA

	 	dkSu lh èkkj.kk,¡ lfUufgr gSa\
		  "If you want to get the best treatment for heart diseases. you must approach hospital Z"-P tells Q.
		  Assumptions:
	 I.	 Q may be heart patient.
	 II.	 Q generally listens to P.
	 III.	 P may have enough informations about the hospital facilities.
		  Which assumptions are implicit?
	 12.	 lglacaèk xq.kkad ls vkidk D;k vfHkizk; gS\

	 	What do you mean by correlation coefficient?	
	 13.	 fuEu dk eku Kkr dhft,%

	 	 Find the value of the following:
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	 14.	 ;fn a ↑ b dks 'ks"k (r) ls dwV fd;k tkrk gS tc a dks b ls Hkkx nsrs gSa] rks fuEu dk eku Kkr dhft,%

	 	 [1001 ↑ 25 + 1002 ↑ 25 + ............ + (1025 ↑ 25)] ↑ 25

	 	 If a ↑ b is coded as the remainder (r) when a is divided by b, then find the value of following:

[1001 ↑ 25 + 1002 ↑ 25 + ............ + (1025 ↑ 25)] ↑ 25

	 15.	 fn;s x, ledks.k f=kHkqt PRQ esa RS Hkqtk PQ ij yac gSA ;fn  QR = 5 bdkbZ o RP = 12 bdkbZ gks] rks RS dh 
yackbZ Kkr dhft,A

	 	In the given angle triangle PRQ, RS is perpendicular to PQ, Find RS when QR = 5 units and RP = 12 units.
Q

S

R P

	16.	 ` 25,600 fdl pØo`f¼ C;kt dh nj ls pkj o"kks± esa ` 62,500 gks tk,xk\

	 	On which compound interest rate.  ` 25,600 will become ` 62,500 in four years?
	17.	 fuEu lkj.kh esa ,d Ldwy ds lHkh d{kk ds Nk=kksa }kjk #fp ls fy;s [ksyksa dk fooj.k fn;k gS%
	 	The following table gives the details of the sports liked by students of all the classes of a school:

d{kk

Class

Nk=kksa dh la[;k
Number of 

Students

fØdsV

Cricket

okWyhckWy

Volleyball

ckLdsV ckWy

Basketball

iQqVckWy

Football

8 120 60% 70% 50% 60%
9 140 50% 60% 60% 50%
10 160 40% 65% 55% 45%
11 180 65% 75% 65% 55%
12 240 70% 80% 75% 45%

nh gqbZ d{kkvksa esa] 90 ls vfèkd Nk=kksa }kjk lHkh pkj [ksyksa esa #fp ysus okyh d{kk,¡ fdruh gSa\
In how many of the given classes can more than 90 students like all the four games?

 	18.	 fuEu esa ls fjDr dks"Bd dk eku Kkr dhft,%

	 	Find the value of vacant cell in the following:

A2 C4 E6

G3 I5
M5 O9 Q14

	 Hkkx&l	 vad 40

	 Part-C 	 Marks : 40

uksV% fuEu esa ls dksbZ nks iz'u gy djsaA izR;sd iz'u ds chl (20) vad gSaA
Note: Attempt any two of the following questions. Each question carries twenty (20) marks.

	19.	 ,d ifjokj ds lHkh N% lnL; A, B, C, D, E o F ,d lkFk ;k=kk dj jgs gSaA B, C dk iq=k gS fdarq C , B dh ekrk 
ugha gSA A o C nEifr gSaA E, C dk HkkbZ gSA D, A dh iq=kh gSA F, B dk HkkbZ gSA fuEu iz'uksa dk mÙkj nhft,%

	 	All the six members of a family A. B. C. D. E and F are travelling together. B is the son of C but C is not 
mother of B. A and C are a married couple. E is the brother of C. D is the daughter of A. F is the brother of 
B. Answer the following questions:

	 (i)	 ifjokj esa iq#"k lnL;ksa dh la[;k fdruh  gS\
		  How many male members are there in the family?
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	 (ii)	  B dh ekrk dkSu gS\

	 	Who is the mother of B?

	 (iii)	  A ds fdrus cPps gSa\

	 	How many children does A have?

	 (iv)	  D ds fdrus HkkbZ gSa\

	 	How many brothers does D have?

	 (v)	  ifjokj esa efgykvksa ds uke crkb;sA

	 	Identify the names of Females in the family.

	20.	 N% O;k[;ku A, B, C, D E o F dks lkr fnu dh vofèk esa jfookj ls 'kfuokj rd vk;ksftr fd;s tkus gSaA dsoy 

,d O;k[;ku izR;sd fnu fuEukuqlkj gksuk gS%

		  Six lectures A, B, C, D, E and F are to be organised in a span of seven days-from Sunday to Saturday, Only 

one lecture on each day in accordance with the following:

	 (i)	 A  xq#okj dks vk;ksftr ugha gksuk pkfg;sA

	 	A should not be organised on Thursday

	 (ii)	 C, F ds rqjar ckn vk;ksftr gksuk pkfg;sA

	 	C should be organised immediately after F.

	 (iii)	 E o D ds eè; esa nks fnu dk varjky gksuk pkfg;sA

	 	There should be a gap of two days between E and D.

	 (iv)	 ,d fnu dksbZ O;k[;ku ugha gksxk ('kqozQokj og fnu ugha gS)] bl fnu ds rqjUr iwoZ D O;k[;ku gksxkA

	 	One day there will be on lecture (Friday is not  that day), Just before that day D will be organised.

	 (v)	 B dk vk;kstu eaxyokj dks gksuk pkfg, vkSj rRi'pkr~ D dk vk;kstu ugha gksuk pkfg;sA

	 		B should be organised on Tuesday and should not be following by D.

fuEu iz'uksa dk mÙkj nhft,%

Answer the following questions:

	 (1)	 C o D ds eè; dkSu ls O;k[;ku vk;ksftr gksus gSa\

	 	Which lectures are to be organised between C and D?

	 (2)	 'kfuokj dks dkSu lk O;k[;ku vk;ksftr gksxk\

	 	Which lecture is to be organised on Saturday?

	 (3)		 O;k[;ku C dkSu ls fnu vk;ksftr gksxk\

	 	On which day lecture C will be organised?

	 (4)	 fdl fnu dksbZ O;k[;ku ugha gksxk\

	 	On which day there will be no lecture?

	 (5)	 fofHkUu O;k[;kuksa ds fnu pquus ds fy;s D;k ;g lwpuk i;kZIr gS\

	 	Is the information complete to decide the days for various lectures?

	21.	fn;s ikbZ&pkVZ esa ,d ifjokj dh ekfld vk; ds [kpZ dk fooj.k fn;k x;k gSA fuEu iz'uksa dk mÙkj nhft,%

	 	 The details of expenditure of monthly income of a family is given in pie-chart. Answer the following questions:
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Education
f'k{kk

Food
Hkkstu

Rent
fdjk;k

Other
vU;

Cloth	

diM
+k

Savings

120°

42°

90°
60°

24°
24°

cpr

	 (1)	 ;fn diM+s ij O;; ` 2,000 gks] rks ^vU; enksa* dk O;; Kkr dhft,A

	 	 If expenditure on cloth is ` 2,000, then find the expenditure on 'other items'

	 (2)	 dqy ctV dk fdruk izfr'kr cpr gksrk gS\

	 	 What is percentage of savings of total budget?

	 (3)	 ,d o"kZ dh dqy cpr D;k gS\

	 	 What is the total savings in a year?

	 (4)	 f'k{kk ij fd;k x;k [kpZ fdjk;s ls fdruk izfr'kr vfèkd gS\

	 	 How much percentage is more on expenditure of item education from rent?

	 (5)	 izR;sd en ij O;; dh tkus okyh jkf'k D;k gS\

	 	 What is the amount of expenditure on each item?

	22.	fuEu dks gy dhft,%

	 	Solve the following:

	 (1)	 bdkbZ {ks=kiQy okys ,d ledks.k lef}ckgq f=kHkqt dk ifjeki Kkr dhft,A

	 	 Find the perimeter of right angle isosceles triangle with unit area.

	 (2)	 ,d ckWDl esa ik¡p #i;s ds flDds] ipkl iSls ds flDds o iPphl iSls ds flDds 5 : 6 : 8 ds vuqikr esa gSaA 

;fn dqy flDdksa dk ewY; 210 #i;s gS] rks izR;sd izdkj ds flDdksa dh la[;k Kkr dhft;sA

	 	 A Box contains five rupee coins, fifty paise coins and twenty five paise coins in the proportion 	 	

5 : 6 : 8, If the value of total coins is ` 210, then find the number of coins of each kind.

	 (3)	 lsuk dk ,d tujy pkgrk gS fd mlds 3,562 toku ,d Bksl oxZ cuk,¡A O;ofLFkr djus ds ckn mlus ik;k 

fd dqN toku NwV x;s gSaA NwVs gq, tokuksa dh la[;k Kkr dhft,A

	 	 An Army General wants to make a solid square by his 36,562 soldiers. After arranging, he found that 

some soldiers are left. Find the number of soldiers who are left.

	 (4)	 ,d dk;Z dks iw.kZ djus esa A, B ls 50% vfèkd  le; ysrk gSA ;fn nksuksa lkFk feydj ml dk;Z dks 18 fnu 

esa iw.kZ djrs gSa] rks B bl dk;Z dks Lora=k :i ls djus esa fdruk le; ysxk\

	 	 To complete a work. A takes 50% more time than B. If together they take 18 days to complete the work, 

then how much time shall B take to do it independently?
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	 ;wfuV&II	 vad 100
	 (Unit-II)	 Marks : 100
	 Hkkx&v	 vad 20

	 Part-A

uksV% fuEufyf[kr izR;sd iz'u dk mÙkj 15&15 'kCnksa esa nsaA izR;sd iz'u ds 2 vad gSaA
Note: Answer the following questions in 15 words each. Each question carries 2 marks.

	 1.	lkbcj ;q¼ uhfr D;k gS\ bl rduhd dk mi;ksx ;q¼ esa dSls fd;k tkrk gS\
	 	 What is Cyber Warfare? How is this technique used in war?
	 2.	DokUVe fcUnq D;k gSa\ budh mi;ksfxrk ds ckjs esa fy[ksaA
	 	What are Quantum dots? Write about their applications.
	 3.	olUr@dkyhu fo"kqoh (lk;u) D;k gS\ ;g dSls gksrk gS\
	 	What is Spring/Vernal Equinox? How does it happen?
	 4.	ÑUrdh D;k gS\ bldh mi;ksfxrk ds ckjs esa fy[ksaA
	 	What is cloning? Write about its applications.
	 5.	okguksa esa i'p n`'; gsrq mÙky niZ.k mi;ksx esa D;ksa fy;s tkrs gSa\
	 	Why convex mirrors are used as rear view mirrors in vehicles?
	 6.	leLFkkfud dks ifjHkkf"kr djsaA blds nks mnkgj.k nsaA
	 	Define isotopes. Give two examples.
	 7.	lh-oh-jeu rFkk gjxksfoUn [kqjkuk dks fdl {ks=k esa ukscsy iqjLdkj fn;k x;k\
	 	In which field Nobel prize was awarded to C.V. Raman and Hargovind Khurana?
	 8.	vEyh; o"kkZ D;k gS\ bldh jpuk ds dkj.k fy[ksaA
	 	What is acid rain? Write the cause for its formation.
	 9.	fdUgha nks ikni x`g (xzhu gkml) xSlksa ds uke fyf[k;sA
	 	Write names of any two green house gases.
	10.	uSuksd.k dk vkdkj D;k gS\ budh mi;ksfxrk ds nks mnkgj.k nsaA
	 	What is the size of nanoparticles? List any two uses of these.

	 Hkkx&c	 vad 40

	 Part-B	 Marks: 40

uksV% fuEu izR;sd iz'u dk mÙkj 50 'kCnksa esa nsaA izR;sd iz'u ds 5 vad gSaA
Note: Answer the following questions in 50 words each. Each question carries 5 marks.

	 11.	foVkfeu A ds lzksr D;k gSa] foVkfeu A dh deh ls gksus okyh chekfj;ksa ds uke fy[ksaA
	 	 What are sources of Vitamin A? List the diseases caused due to deficiency of Vitamin A.
	12.	jcM+ dk oYdhuhdj.k D;k gS\
	 	 What is Vulcanization of Rubber?
	13.	vEyjkt D;k gksrk gS\
		  What is aquaregia?
	14.	jDr nkc D;k gksrk gS\ lkekU; jDr nkc dh ijkl D;k gksrh gS rFkk bldk ekiu fdl midj.k }kjk fd;k tkrk gS\
		  What is Blood Pressure? What is the normal range of blood pressure and which instrument is used to measure 

it?
	15.	tSo&fofoèkrk D;k gS\ mi;qDr mnkgj.kksa lfgr fdlh fn;s x;s ikfjfLFkfr ra=k esa izlkj rFkk thukse laoèkZu ds fy;s 

mi;ksxh rduhdksa ds uke fy[ksaA
	 	What is Biodiversity? Name the technologies that can be used for propagation and genome conservation in 

a given ecosystem using suitable examples.
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	16.	lwpuk laxzg.k] vkS"kèk rFkk 'kY; esa tSo laosnh rFkk tSo fpIih ds mi;ksxksa dk o.kZu djsaA

		  Describe the use of biosensors and biochips in information storage, medicine and surgery.
	17.	vkuqoaf'kdW ifjofèkZr iQlysa D;k gSa\ Hkkjrh; Ñf"k rFkk m|kfudh ls lacafèkr mi;qDr mnkgj.k nsaA

	 	 What are genetically modified crops? Give suitable examples related to Indian Agriculture and Horticulure.
	18.	ijÝyksjksdkcZu (ih-,iQ-lh) ds xq.kksa rFkk mi;ksx ds ckjs esa fy[ksaA

	 	 Name the properties and uses of Perfluorocarbons (PFC)

	 Hkkx&l	 vad 40

	 Part-C	 Marks: 40

uksV% fuEu esa ls nks iz'uksa (izR;sd) dk mÙkj 200 'kCnksa esa nsaA izR;sd iz'u ds 20 vad gSaA

Note: Answer any two questions in 200 words each. Each question carries 20 marks.

	19.	fofèk foKku esa ukjdksa fo'ys"k.k] efLr"d ekufp=k vkSj Mh-,u-,- ckjdwV dh egÙkk ij ,d fucaèk fy[ksaA bldh 
lhferrkvksa dk mYys[k djsaA

	 	 Write an essay on the importance of narco-analysis, brain mapping and DNA barcoding in Forensic Science. 
Mention their limitations.

	20.	ÅtkZ ds xSj&ijEijkxr lzksr dkSu ls gSa\ jktLFkku ds fo'ks"k lanHkZ esa fdUgha nks xSj&ijEijkxr ÅtkZ lzksrksa dk o.kZu djsaA

	 	 What are non-conventional sources of energy? Describe any tow non-conventional energy sources with 
special reference to Rajasthan.

	21.	bZ&iz'kklu] bZ&O;kikj rFkk varjkZ"Vªh; dwVuhfr esa lwpuk rduhdksa ds mi;ksx dk o.kZu djsaA

	 	 Given an account of the use of information technology in e-governance; e-commerce and international 
diplomacy.

	22.	viuh l`tukRedrk dk mi;ksx dj jktLFkku esa ou] i'kqikyu rFkk lwpuk rduhd dks ysdj ,d ¶n`f"Vdks.k (nwjn'khZ)¸ 
izys[k fodflr djsaA

	 	 Use your creativity to develop a "vision document" for improving forestry, animal husbandry and information 
technology for Rajasthan.


